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1. Find the part of the given sentence that has an error in it.
A first step in a rational solution to any problem is the recognition that a problem exists.

(A) A first step
(B) inarational solution
(C)  toany problemis the

(D) recognition that a problem exists.

Answer: A
2. Choose the most appropriate option to change the voice (active / passive) from of the given sentence.
Nobody told me Vanita was unwell.
(A) 1wasn’t being told by anybody that Vanita was unwell
(B) I'wasn’t told by anybody that Vanita was unwell
(C) nobody told me Vanita was being unwell
(D) nobody tells me that Vanita was unwell

Answer: B
3.  Select the most appropriate ANTONYM of the given word.
Frivolous

(A) Reputed

(B) Popular

(C) Nervous

(D) Serious

Answer: D
4. Select the most appropriate ANTONYM of the given word.

Treacherous

(A) Fluent

(B) Faithful

(C) Fantastic

(D) Flexible

Answer: B

Horus, the falcon-headed god, is a (1) ancient Egyptian god. He has become one of the most commonly used symbols of Egypt,

seen on Egyptian airplanes, and on hotels and restaurants (2) the land . He is the son of Osiris and isis, the divine child of the holy
family triad. He is one of many gods(3) with the falcon. His name means ‘he who is above’ and ‘he who is distant’. The falcon had
been worshipped from earliest times as a (4) deity whose body represents the heavens and whose eyes represent the sun and the
moon. Horus is (5) as a falcon wearing a crown with a cobra or the Double Crown of Egypt. The hooded cobra know as a Uraeus,

which the gods and pharaohs wore on their foreheads, symbolizes light and royalty. It is there to protect the person from harm.

5. Select the most appropriate option to fill in blank number.1
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(A) Rebellious
(B) Nonchalant
(C) Humble
(D) Revered

Answer: d
6. Select the most appropriate option to fill in blank number.2

(A) Alongside
(B) Away from
(C) Throughout
(D) Outside

Answer: C
7. Select the most appropriate option to fill in blank number.3

(A) Endowed
(B) Possessed
(C) Accommodated
(D) Associate

Answer: d
8. Select the most appropriate synonym of the given word.

Intricate

(A) Complicated
(B) Developed
(C) Basic

(D) Painted

Answer: A
9. Select the most appropriate synonym of the underlined word in the given sentence.
The promises made by the old minister were fulfilled.

(A) Recent

(B) Contemporary
(C) Aged

(D) Vernal

Answer: C
10. Our country has become a ................... of democracy in the modern world.
(A) citdel
(B) movement
(C) confident
(D) desirous
(E) responsible

Answer: A
11. Select the most appropriate option to fill in the blank.
He ran ------ the field to catch the ball

(A) Through

(B) over

(C) besides



(D) across

Answer: D
12. Given below are four sentences in jumbled order. Pick the option that gives their correct order.

A. He ran across the garden and through the paddy fields.
B. He ran and ran and did not stop until he reached a small house at the end of the village.
C. Grandfather took me in his arms and started running.
D. Then he shouted for the man who lived there to come out.
(A) DBCA
(B) ADBC
(C) BCAD

(D) CABD

Answer: D

13. Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful
and coherent paragraph.
A. Many countries throughout the world have achieved full digitalisation.
B. Initially, the entire world tritioned to digitalisation.

C. This type of internet is known as a metaverse.
D. This existing kind of internet technology, which gives us access to various aspects, is about to change into a better and newer
version.
E. The Metaverse is an intriguing technology that has been described as the ‘newer version of the internet’.

(A) EADCB
(B) BCEDA
(C) DCEBA
(D) ABCDE

Answer: C
14. Parts of the given sentence have been underlined. One of them contains an error. The underlined parts are given as options
with some changes. Select the option that correctly rectifies the error.

He is good at playing the guitar than his brother.

(A) guitar

(B) to

(C) is better
(D) in playing

Answer: C
15. The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error
from the given options. If you don’t find any error, mark ‘No error’ as your wer.
A crocodile / was swimming / in a river.

(A) was swimming
(B) No error
(C) Acrocodile



(D) inariver
Answer: b
16. Identify the segment in the sentence which contains a grammatical error.

School was brought to an abrupt standstill when the lockdown was imposed.

(A) To an abrupt stand still
(B) Schools was brought
(C) when the lockdown

(D) was imposed

Answer: B
17. Select the option that will improve the underlined part of the sentence. In case no improvement is needed, select ‘No
improvement’.

But what of the young people whom are part of the cricket crowds, some of who are presumably born in England?

(A) whom are part of the cricket crowds, some of whom are presumably born in England

(B) Noimprovement
(C) who are part of the cricket crowds, some of who are presumably born in England
(D) who are part of the cricket crowds, some of whom are presumably born in England

Answer: D
18. Select the most appropriate option that can substitute the underlined segment in the given sentence.

Last before year, Shirley got very good grades.

(A) Before last year
(B) Before year last
(C) The year before last
(D) The last year before

Answer: C
19. Select the option that expresses the given sentence in reported speech.
She said, "The organisation was established a year ago."

(A) She said that the organisation had been established a year before.
(B) She said that the organisation has been established a year ago.

(C) She told that the organisation was established a year before.

(D) She said that the organisation was established a year ago.

Answer: a
20. Select the word which means the same as the group of words given.

a large, deep pot used both in the oven and as a serving vessel.
A) casserole
B) cauldron
C) skillet
D) sauce-pan
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Answer: A
21. Select the word which means the same as the group of words given.

Combine to form a whole
(A) Disjoin



(B) Integrate
(C) Create
(D) Scatter

Answer: b
22. Select the most appropriate meaning of the underlined idiom in the given sentence.

The heavy losses in business came like a bolt from the blue.

(A) an ominous warning
(B) an unexpected disaster
(C) a thunderstorm

(D) a windfall

Answer: B
23. Select the most appropriate meaning of the given idiom.
Foul play

(A) Unfair or dishonest behavior

(B) A dreama which is badly produced

(C) Unpleasant weather for playing

(D) A bad smelling theatre or playground

Answer: A
24. Select the INCORRECTLY spelt word.

(A) Doubtful

(8) Willfull

(C) Powerful

(D) Grateful
Answer: b

25. Select the INCORRECTLY spelt word.

(A) Debatable

(B) Wrestler

(C) Discrepancy

(D) Accompanyment

Answer: d
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afg 1995 ¥ HUN &1 amaa Rs. 247 &g o, a1 1995 ¥ U garr frafa fea-r on?

(A) Rs. 275 #vts



(B) Rs. 280 @xts
(C) Rs. 370 #xs
(D) Rs. 380 &xis

Answer: D

28. WEAT 146+48 H ¥’ & TYT W d¢ Ja& 931 Fia W w&ar gl aifRe Bwd f&F ucg g&ar 8 @ fasmsa a2

(A) 0

(B) 8

c 9
(D) 2

Answer: B
29. us g @ e § gfaay 6.25% @) gfg Bxlt 81 i g o axdEe s

4046 ®, A1 2 9¥ Ud @ STRIET fhae ofi?
(A) 3648
(B) 3584
(C) 3456

(D) 3328

Answer: B
30. U TR H 15 Y0 @ 8 o B weE RS, 4777 # 97 W1 2 | a%] P sifehd qeu @ @ ?
(A) Rs. 5348
(B) Rs. 5525
(C) Rs. 5620
(D) Rs. 5494

Answer: C
31. 90 o= & Up dem H, 60% Tsfhdl € 3R 97 s & | S | wHl Bl B 3N

g 129 2 | I TSP 1 30 3 Asfrar &1 o & 35% FH 2, AT ASHT B
SIRCECCASINIC

(A) 95

(B) 97.5

(C) 96.8

(D) 90
Answer: B
1 1
32. wﬁr&aﬁmm14%aﬁzﬁmaﬁaﬁa4aﬁwwm Rs.3731%|u%?rﬁ3ﬂ%ﬁa?q"\f52 ¥ # S0 RN @7 M e gmn?

(A) >Rs. 11357
(B) Rs. 11913



(C) Rs. 11537
(D) Rs. 11931

33. aégs%ir%maﬁAﬁa%waﬁzﬁmwww Rs.24,000 &1 o1 foram | afE o1 3@ & ofd § 9 & & w9 9 Rs.19,440
et fod, O &t <R R ef?

(A) 8.5%

(B) 10%

(C) 8%

(D) 9%

Answer: D
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34. afk 31 d= @ U H €, A1 Ugell de, gAY 6w 9 e ufiea ot A
HH 87
(A) 4% @
%
(B) 1811 Cail
(C) 4% srfers

(D) 20%

Answer: A
35. A BJUT CoA Ush IUR IFH fHT| AT 320000 .4 AT & foIT o@MAT, B o 510000 &. 3 9F & fow gar ¢
270000 %.5 HTH & T Semam| aﬁaﬁa?sir—crﬁgmmﬂ 124800 ¥. @, Al BT HET AT ShIToTT |

(A) 45900%.

(B) 50000%.
(C) 49200%.
(D) 79000%.

Answer: A
36. Uy AR B Ud SHI BT BHI: 16 T 3R 24 S H W Tbd g, Sidfb gy C 3ol

o W Tl BT X B H Wrefl DY Wbl © | STd T 3 UigyY U WY Wit QU I g,
20
ar < ?‘a%ﬁwarcﬁémaﬂnﬁamaﬁﬁm
(A) 18
(B) 20
(C) 15

(D) 12



37.

Answer: A
U 3MEH Yermel & 420 km @ 0 @1 axal & 5 75 km/h @) a1t & =il 8 @i a8 50 km/h & a1t & g™ drell &R J aigd olledr 2 |

o AT B AT BT ST ATeT ST BT |

38.

39.

40.

41.

(A) 60 km/h
(B) 66 km/h
(C) 68 km/h

(D) 65 km/h

Answer: A

AT FT TH @EAT 15T 14 cm FFaT § 3T sHFT el sAH 6 cm § IR 959 Fr AerE 1 om 3R AT FT 4R 8
3

cm g O uIsT F1 HR (kg) fhaar gen?

(A) 1.76
(B) 2.54
(C) 1.68
(D) 1.92

Answer: a
2 2 2 3 3 3
I a+b+c=6, a +b +C =32,3ﬁ'{'a +b +'I': =189%,a1'abc-3a-7rmﬁ'3?|1$'ﬂ'l
(A) 1
(B) 3
(c 2
(D) O

Answer: D
I SAfHTH IMHR & q B dFAhel A DIy, Sl 44 cm &1 IR Il I & 3feR Fiar ST Fadl & |

(A) 49-\/E

(B) 49 cm?
(C) 196 cm?
(D) 98 cm?

cm?

Answer: D
. o - o .
e value o & WHeED V3 cosO +sinB =1(0° =0 = 90°),is:
O
(A) 90
Q
(8) 30
8]
© 0
[ &)
(D) 60

Answer: a



42. I ¥@ I GG F1a BN O y- A& W TS, X- AT W B IACETS BT AT g4 2 3w g (3,4) @ qorwcht 2
(A) 2x-y=10
(B) 2x+y=10
(C) x+2y=10
(D) 2x-y=5

Answer: B
1 1
. xt 2 .
43. I (x- F)=6 3R x>0 A (¢ -X)F A7 77 F

(A) 24v10
() 18V10

(C) 12v10
(D) 242

Answer: c
44, U AT hASF FT AT AT HAT |

(a-2b) (b-3a) + (a + b) (a- 3b) - (b- 3a) (4a - 5b)

(A) 10a%-14ab
(B) 10a%-4ab
(C) 8a%+ 10ab
(D) 8a%-10ab

Answer: A

45. 16cm 3R 8 cm s At &) goll & &l & fa A gt 26 em Bl A FA A FAfATs IeTET Y@T A dHME (cm
#) sira ffaw |

(A) 2153
(B) V132
(C) V153
(D) 2v132

Answer: A

46. frorsr ABCH, 2B 90°, 3R ¢ 45° & IR AC  2v2em B, A BCH FEIE FAT 2
(A) 1cm
(B) 3cm
(C) 2cm
(D) 4cm

Answer: C
47. farfaf@a & @ wla-a1 FYT T97 §?
(A) IR ¥uF g W g A BT & dwad gl B
(B) ¥ g9 ¥ Fawr vH g F Tt FA arelhr ¥@w A
(C) U Y@, S T ga & ar Heer-3radr gt F Fedt 7, TreRaEn Fgard g
(D) afy fret Shar F g7 F aET A AN W Hemar Jrar B, @ 3/ ASF Fer A1 g

Answer: C



48. UEH AT FT 95 §aT & AT $H @@ AT ¢ [ 38F af @ H Hwor 18 3f g 31 IR 93 &1 wa@ 34

m44metresﬁ{amm%?ﬁﬂ3ﬁmﬂﬁmﬁl

(A) 210 metres
(B) 70 metres

(C) 140 metres
(D) 120 metres

Answer: C

49. 3Ry tan3B'tan7B=1 g, et 7BW =T HIoT 8, & cotISB FT A AT FfIC

(A) V3

(B) 1

€ -1

(D) 3
Answer: C

50. T T GSF FT FLANFHIOT HL

432 X432 +247 X247 432 x247
432x432%x432+247 <247 <247

Answer: a

51. e &Y & v aR@R & P, AFT Rar § 3 K, AFT greT 81 K, PH 59 YR Hefta 2

(A) 9T

(B) Trar

(C) Oa/aTet
(D)  ATaT

Answer: b
52. 39 RFer A gfav Frwd ey A §EA? o q9y den Fd § N R v ey & dEasit g@ann qwn
frar Srar 81 (LA & HEEIsT @Y 3AF "eF HH A Irerer reer frv e, qof wEamat o wfeae fr sl el e
13-13 9T WREFATE S 13 FT ST /TAT/ON F TS FBFAr ST wFHar 81 13 B 1 wF 3 F rerer I A 3 v g
Td 3 W A0 @R F i A A€ })
(38,172, 314)



(42, 176, 318)
(A) (18,152, 294)
(B) (12,136, 278)
(C) (56, 190,330)
(D) (32, 166, 318)

Answer: A
53. <9 0o &1 99 o, I TR R—TE 9 3P IS4 JHR G ©, 9 TPR TIRT ASR—TFE U5

ER—TE W HefAd 2|

CARBON : NOBCAR : : PUZZLE :?
(A) PELUZZ
(B) ZPELUZ
(C) ZZPULE

(D) ELZPUZ

Answer: D
54. 1B 0 TR ¥ UE AF P U T S FRAT 8| 98 4 D1 3% 50 Hex T €, iR
SfaroT @Y SR g €, #fiR 10 #ex =erar €1 R 98 A g &, SR 40 Hex =refdr g |
3 ¥, 98 3¢ g €, 3R 20 Hex IR UH Ugd O € | SHHl TR U 9 e fawm
3 90° .
#F &2 (@ A Bad arel oS ©)
(A) Sev—qd
(B) <feror—ufy=m
(C) SaR—ul¥=
(D) <féro—gd

Answer: B
55. "LETHARGIC"3r== & 37813 & OA fhaar &g € foraar @5t aofsrer & % 3 89 & 2

(A) B Tt
(B) 1

(€ 2

(D) 3

(E) 38 o=

Answer: B
56. fr=fafea aged # U9 faas 4 € 599 1 Ugel 7 @1 6 oI & 3R 7 &1 9@ 3% a1g 9 amar 87

9466495947891649649
(A) o=
(B) 7=
(C) &=

(D) =

Answer: D



57. & RE v gliFIor & AT T T 98 g9 F AT A 3 a0 Reel F1 REwR aedar afRe?
12+ 112 + 16-8 x 64 = 140

(A) + 30T x
(B) +3i+
(©) +3 x
(D) +3 -

Answer: (o
58. stt_tt tts

(A)  tsst
(B)  sstt
(C)  ttst
(D)  tsts

Answer: A

59. foarT & ¥ a1 Reeq i Re 7w el & aFwaa 3k sredyel Ha A g
1-Haled 2-3T%F 3-URAT 4-9Ra 5-feT

(A) 1,5, 4,3, 2

B) 3,42, 1,5

€2 1, 4,3,5
(D) 2, 3,4, 1,5

Answer: C

60. T 7T ¥t ) eqer @ ¢ 31 37 T&AT F7T T4 HY, S A Tearad e (?) F TIF W 37 IFdr &

(54 [40 |56
68 |57 |44
47 (39 |2

(A) 30
(B) 22
(C) 32
(D) 39

Answer: C

61. Rw 7T def AIEF HewAd F AN IW WEA F AT FW, A WA RAEA(?) A F6 30 TR ¥ |



(A) 54

(B) 38

(C) 29
(D) 18

Answer: a
62. f&el e 9w H, OBJECT &1 1525102237 foram wiman &, ar s« w1 % DEPEND

BT f5rd ypR fomar srem?

(A) 42216221423
(B) 42211221323
(C) 42216051405
(D) 42116211422

Answer: A
63. s ff¥=a g W ¥, ‘go home’ T ‘ta na’ feram ST €, 3R ‘nice little home’ @1
‘na ja pa’ forar ST 3| I g WM # ‘go’ BT Y geR forar Sar 87?
(A) ta
(B) naar pa
(€) ja
(D) na

Answer: A
64. TUsh HABR sclich T o AT Fr AT 3= §1 ST9 FUX aTed Beleh W '6' fe@rs & W@ &), dl AT arel Heleh WX
HiT-dT TET gt 2

2 i
4 a
5 3

(A) 4
(B) 2
(C) 5
(D) 3

Answer: A
65. fiy U TN &R el &1 eYds u¢ iR 9ag 5 3 ¥ ey fQu 19w @1

e Y A UTed B 82

PBA:

‘well done’, ‘well said’ ¥ 38X 2|
forep:

L. ATl & gB 38T 331 IR 60 @1 ‘well done’ H&1 =12V |



M. sT9on @ ger § B ARt W Sifie v Bied E |
(A) < @ sy urer avd E |
(B) = ar fepd L ar M Tt vt 2|
(C) daer frspd M arer e @ |

(D) ®aet forepy L aree oxar 2|

Answer: C
66. QAT T AEHIY H wrawen & AR SFAEAd
ffSe 3k 3R faweT w1 gaw

1- Live 2- Litter 3- Little 4- Literacy 5- Living

(A) 3,421,5
(B) 3,2451
(C) 43521

(D) 4,2,3,1,5

Answer: D
67. o: fagadt & gaFR A9 F Na: AT & Fg A AR @ FF 3 71 9, F7 F 1§ 3N @ WU | A9 B
farer, §7 F % AR qEY T W dor ¥ WA, A7 F @ AR AW Ty W dor B A, A 3R FH F S qorer
# ¥ Beww, 9 & o AR W T W dor 31 e AR Fw & A F Fla dor

(A) feFaeT
(8) Ha

() &
(D) &fa=r

Answer: D
68. & g amadfy # Brpell B e aaEy

(A) 18
(B) 16
(C) 14
(D) 20



Answer: A

69. 3IW AT IRW FT TIT T o ArAfaf@d Tt F T Fau ) gafaw T F gofar &

:
;
;
:

(A)

(B)

(€)

9oL

(D)

Answer: B
70. 39 RFeq Irpfa &1 wF7 NSC @ & 7§ arpfa () 375 097 & &7 & B g€ & apfa 1 gy A
srgafar =@t gl

(A)

(B)

A

(€



(D) %

Answer: a
71. SO F FFEAGER 'AB'W W@ ¥ R v BT & oo arar 7@ gdor wfafde a1 awe w1
A
g =
U X

[os)

“

(A)

AR,

> Sk |-y | S| -

(B)

AR,

(€

2

(D)

Answer:

72. oM & S IHMA @ H 3T TAT W HEA el IHpfA 1 7T HfSC]

SEARER
& .

—p
B [ ]
P R

\
ve

h¥a]
ua]
=
=

—3
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(A)

(B)

(€)

(D)

Answer: B
73, fawifea ampfadl & FHer F vF ¢HS F AA F FA AR AT gC FOS H Frea FadS @@ I 7 TR
HITST Wil 9T FHar @

-------------------

(€)



O L
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O %
O <
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Answer: B

74. 3@ RFed & a9 AfFT St Y aee § 360 TFR 60T § O TFR g@ we weg & FaRT g
3 : FHAAT = W ;2
(A) gater

(B) SAHAT
(C) arfSya gi=r
(D) Trerer=T

Answer: C
75. 0 ar v oy v € R | A9 el Wed § U 9 € SR SH 9 Ud SR ® | SN ST ¥eE Bl aAT BN |
(A)  drE—=0T (TSe)
(B)  wifear (amersfes)
(€)@ A (Revew)
(D) S=a gy (BT3URCT)

Answer; D
76. R BT TSSASS B BaET Sdl & —

(A)  am=is=
(B) amrsfafz=

(C) wraHI
(D) =reTISger

Answer: D
77. W wEfe A Rea e) g3 (Molecular Formula) w9 814 € W Wa s 93 f=i—f 81d
PEATT B—

(A)  TFRene

(B) wH9IR®

(C) ST

(D) sUwy

Answer: C

78. dlgy areqEen & west A, AT FT FAT HY P2



(A) #HfET FT vdY @R
() oo™ /#Hs
() ¥&¥ ¥ Hafdd aAy

(D) YTT FeT
Answer: d
79. ffef@d & @ Fi9 a1 @ER & AT EI"E}I!’IH’GT II@TAT (Je Tsongkhapa) & SIeHfed HT  Tdlh ]
(A) IIGIA ATHAIE
(B) @R
(©) wge
(D) 9
Answer: A

80. fwfafad & & =i &1, Rerfda K1 &1 g@a 9 82

(A) rafas

(B) fFA=feA=s ufe
(C) WISATAIT
(D) TEETFATAA

Answer: C

81. fufafad & & #:17 a1 aTR=TIYT a8 I it o YIF § ST T a1 & THids ATl 781 §, AT 56 aF §
A I §2

(A) T=TRw

(B8) fawmdhi=r

(C) SfEm
(D) arter

Answer: b

82. fawafaf@a # & #la &1 ¥ wv, Rwma g & yafaa g2

(A) @TEY

(B) ¥RT

(C) NF®
(D) &Y

Answer: d
83. A M+ & Mar -

(A) RfFaER



84.

85.

86.

87.

88.

89.

(B) fRgaR

(C) Tegarea AN
(D) FE&T
Answer: B

< 2024 ¥ fgirer & o= o o e @i 3D fifes S99 aTer 91ed & Yy Tehe 7 979 F4T AqT?

(A) €T
(B) ToU=h

(C) aqu
(D) srfRreaTor

Answer: D

Freferfea # & e 3 gt wfger s it woraEr i 78 o012

(A) 1991
(B) 1992
(C) 2004
(D) 1985

Answer: B

Feforfea & & frm Araer § 'giaamar @v=qr FEia & agelt are SAiead | ar?

(A) F=ATLT IAAT qTHAT

(B) WAL Sfra«T ST A9/ (LIC) HTHAT

(C) FHTT U= THTE HTHAT
(D) FHeTATAE WILAT ATHAT

Answer: D

forfaa & & -7 IR, T57 T9T § A= G 7 T59 F2dT 872

(A) Trgafd

(B) TS HNT & qFTITF
(C) =it

(D) SATHEHAT AT

Answer: B

AT TAHATTAT % ATHA H TLTTHAT AT ST ST (PMSBY)' 'FIT Referfera & & fraar fwaest e &7 Srar 872

(A) 22 @M="
(B) ¥1 &TE
(C) %5 aTE
(D) 50,000

Answer: b

Taeft sere & Ia g
(A) T =g Festh

, -1 1905 H T HTAT T TFHF B a8




(B) FIEHATT ST
(OREERIG-GIREXIES
(D) AT W aTE

Answer: C

90. 1 HFEAT 2019 F FATEIT HET AT (IMF) 3 Tarer [aersh & =7 § Free w19 3T sfiw 38 1 1eFea™ 2024 7 9% 819 a1 g0y 91
FefTer RIS F oI A UwTE (IMF) 3 TR ST gT9T A7 47 82

(A) TaE wﬁg (Antoinette Sayeh)
(B) WW(KenjiOkamura)
(C) fraT AT (Gita Gopinath)
(D) TorearfemT STisTaT (Kristalina Georgieva)

Answer: d

O1. 31vF 3911 AT AT & HIH A ST¥ITH o Hael H AT [Aheq H FAT o0

(A) TUHT -aTIL STTFE (USA- Tiger Triumph)

(B) Isafshedre - ¥afers (Uzbekistan - Dustlik)
(C) Teh- TS ATRAT (UK - Ajeya Warrior)

(D) {Q"% -&r TSI+ (JAE - Dharma Guardian)

Answer: D
92. faftre =1 U9 WAV —9R A HW-8— URATY] AR x faf¥re o= = 6.4, faar &ar—

(A) = g
(B)  Agur® gII
(C) sgeiw v dfee grr
(D) ®aad AT FRI

Answer: C
93. fr=faRed % 9 &9 UBR & YUY &I aigqi H SARS dacy (catalytic converter) fire ova i
far ST 272
(A) et gEw

(B) el wgmor
(C) a1 wguor
(D) g wguwr

Answer: D
94, Y9RA B Bx WHR FART ARAI AT IMART B Ha AT fHar a7 on?
(A) 2010
(B) 2014
(C) 2000
(D) 2015

Answer: B
95. @1 (El- Nino) wres fohe wmwr < foram = &7
(A) faer
(B) wieiRd
(C) screrdr



(D) ==

Answer: A
96. A<l Fifa (Sweet Revolution)’ 37 & frad Iwred & Hdfda 287
(A) =T
(B) =rew
(C) =
(D) T8
Answer: B
97. ‘TSI f&d UBR @1 B T Aehia wear 8?2
(A) R 73T &1 SUANT BRd Wl B S B |

(B) R wodr @ well 3R ugquTe Ueh wef fhar e 7 |

(C) R e & @fast dwdt & e # {97 g & S o 2
(D) o # B! BT IS AN TR AR ST & |

Answer: &

98. Mgl A qg MATirad § & 9 a9 =T T4T 77

(A) 1556
(B) 1558
(C) 1565
(D) 1560

Answer: C

99. HTH 2024 § HUH T Fagl o (PKL) % e 10 # fwferterd & & fo6m & 7 S{iq griee 612

(A) g e
(B) TART Teed

(C) AT UTEsed

(D) S T Foref

Answer: B
100. HTH 2024 ¥, Aefeiag & & FaT TP ST =~a ST STaRT (NCSC) & Teqet T TaTE Ig0T fhaT?
(A) e T
(B) STHT AT
(C) v fEig amd
(D) Fa% fiig

Answer: a



